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'HDU 6LU RU 0DGDP�

, DP YHU\ FRQFHUQHG DERXW WKH SURSRVHG PHUJHU EHWZHHQ $2/ DQG 7LPH :DUQHU� 7KLV PHUJHU ZRXOG FUHDWH D

PRQRSRO\ LQ PDQ\ DUHDV RI WKH FRXQWU\� ,W ZLOO FUHDWH D FRPSDQ\ ZLWK H[WUHPH SRZHU WR FRQWURO WKH ,QWHUQHW

PDUNHWSODFH� 7KHVH WZR FRPSDQLHV KDYH DOUHDG\ VKRZQ WKHLU GLVUHJDUG IRU WKH ULJKWV RI WKHLU VXEVFULEHUV LQ

PDQ\ ZD\V VXFK DV WKH ODFN RI VDIHJXDUGLQJ XVHU LQIRUPDWLRQ E\ $2/ DQG OLPLWV RQ IUHH VSHHFK E\ 7LPH

:DUQHU FDEOH XVHUV� %\ DOORZLQJ WKHP WR PHUJH \RX ZLOO FUHDWH DQ HQWLW\ ZLWK HYHQ PRUH SRZHU DQG DELOLW\ WR

UHVWULFW ULJKWV RI ,QWHUQHW XVHUV DQG OLPLW IUHH VSHHFK DQG IUHH DFFHVV WR DOO LQIRUPDWLRQ RQ WKH ,QWHUQHW�

, EHOLHYH \RX VKRXOG UHTXLUH DOO KLJK�VSHHG ,QWHUQHW DFFHVV SURYLGHUV� ERWK &DEOH DQG '6/ WR SURYLGH WKH

IROORZLQJ�

x 2SHQ $FFHVV ² DOORZ XVH RI WKH VHUYLFH SURYLGHUV ZLUH WR DFFHVV DQ\ ,63

x 3ULYDF\ ² PDLQWDLQ XVHUV SULYDF\� FRQWURO DFFHVV WR VHQVLWLYH LQIRUPDWLRQ VXFK DV FUHGLW FDUG

QXPEHUV� QRW WUDFN ZHE VLWHV YLVLWHG RU VHOO D XVHUV LQWHUQHW XVDJH SDWWHUQV WR DGYHUWLVHUV

x )UHH 6SHHFK ² WKH KLJK VSHHG LQWHUQHW DFFHVV SURYLGHU VKRXOG QRW KDYH WKH ULJKW WR FHQVRU WKH

VSHHFK RI XVHUV

x 5HTXLUH KLJK VSHHG LQWHUQHW DFFHVV SURYLGHUV WR OLYH XS WR WKHLU DGYHUWLVHG VSHHG DQG EDQGZLGWK

QXPEHUV

,I \RX DOORZ WKH $2/ 7LPH :DUQHU PHUJHU� WKHVH LWHPV ZLOO EH HYHQ PRUH LPSRUWDQW� %HIRUH WKH

SURSRVHG PHUJHU� $2/ ZDV FU\LQJ IRU ´2SHQ $FFHVV�µ 1RZ WKH\ KDYH IRUJRWWHQ ZKDW LW PHDQV� &RQJUHVV

KDV DOUHDG\ UHFRJQL]HG WKH LPSRUWDQFH RI JURZWK RI WKH ,QWHUQHW E\ OLPLWLQJ WD[HV DSSOLHG WR LW� 7KLV

GHFLVLRQ \RX DUH PDNLQJ LV HTXDOO\ LPSRUWDQW WR DOORZ FRQWLQXHG JURZWK RI WKLV QHZ PHGLXP� 7R DOORZ

H[WUHPH FRQFHQWUDWLRQ RI SRZHUV LQ RQH FRPSDQ\ ZLOO LQKLELW WKDW JURZWK�

6LQFHUHO\�
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